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L_Osungen:

Aufgabe 1
a) 5;3;2;3;,0 b)-5;-2;-1;-1;-4 c)% Jii —%J5
HES
Aufgabe 2:
a) 13; b)c®; 7, d)V15; e)v2; )9
Aufgabe 3:
a) b=2 b)b=2 c)b=12 d)b=2 e)b=2
Aufgabe 4

. = log(4-25) =1og(100) = 2
b = log(0,05-0,2) =1og(0,01) = —2

o =1logs(32-2) = log,(64) =3

4 =log; e log,2=1

o = log(>) — log3 =log(>) = log10 =1
H =1og(§-§-§j= log1 =0

g) = log: (") = log;9 =2

Aufgabe 5
a) =log, 8+ log, x
by =log,p +log,q
o = log4+logx +logy

o

q) =log, 1—log,(8:x) =log, b® — (log, 8+ lo

d)t; —m; ]1—1; 0

g5 X)
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= —log, 8 — log, x
o) =log(2x) —log(3z) = log2 + logx — (log3 +log z)
=log2 +logx —log3 —logz
fj =logy(8+x) +log, v =log, 8 -log, x +log, ¥
g) =log,1—log,(a-b)=0—(logya+logyb)= —log,a—1

h) = logy(s-t-u) —log, b = (log, s +log, t +log, u) —1

Aufgabe 6

a)2-logyt: b) E log, x ¢)—12-logyx: d)—3-logyt
e) =log, x = = —globb X

Aufgabe 7:

p(x)=1024 = 2:=1024
Auflésen nach x: i =10g,1024 =x=4-10g, 2" =4-10=40

Nach 40 Jahren ist die Population auf 1024 Algen angewachsen.

Aufgabe 8:
a)}{ = l'Dg5 13 = 5*=13 < l{]]ﬂgﬁx =13 = 1{]x-]og5 — 13
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